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e fdded &1 989 T (Choose the right option)

% BT IYcThH BN :
The inverse of %will be :

4 4
(1) 3 (2) -3
8100 T I @ :

The square root of 8100 is :
(1) 70 (2) 80

64 @I T @ :

The cube root of 64 is :
(1)2 (2)3
(999)°@T A I :

3) =

AW

(3) 90

(3) 4

The value of (999)° will be :
(Ho 2) 1 3)9
39 &I AUE Y T -

The generalised form of 39 is :
(1) 9x10+3  (2) 10x9+3
U Ta] &l &

A monomial expression is :
(Dx+y (2) 2xy
x— 3 3R 12 + 2x BT INTHA T -
Addition of x — 3 and 12 + 2xis :
(1) 9x+3 (2) 3x+9

(3) 10x349

(4) 378 ¥ @13 78! (None of these)

(4) 100

45

4) 27

(3) x-y

(3) 3x+15

(4) 3x9+10

(4) 2 + xy

4) 12x+9
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x> =9 T UFEYS BN :

Factorisation of x*—9is :

(1) (x+3)(x+3) 2) x=-3)(x-3) 3B) x+3)(x-3) @) B+x)3B-x)
a’ +2ab +b* 1 TOEUS I :

Factorisation of a*+2ab+b* is :

(1) (a+b)a+b)  (2) (a=b)a—-b)  (3) (a+b)a—-b) (4) (a—b)a+Db)
2x+3=5% x & HF &

The value of x in 2x + 3 =5 will be :

()0 2) 1 (3) 2 4) 3

T x 3R 5 d1 AT 12 B Al FHIGROT B

The sum of the number x and 5 is 12, then equation will be :

(Dx+1=5 (2)x—12=5 (3)x+5=12 A)x-5=12

50 faemt # 9 729 faenedl Mo § @iy w@d §1 fod- dfiea feenefl T § v 78 w@d

g7

72% of 50 students are interested in mathematics. How many are not interested in

mathematics ?

(1) 32% (2) 30% (3) 28% 4) 25%
16 URTSl T eI 64 To g, Tl 144 o H foha URTA W IR Fahdl © 2

Cost of 16 pencils is Rs. 64. How many pencils we can get from Rs. 144 ?
(1) 30 (2) 35 (3) 36 4) 44

& TS AP F x BT AN BN

In the given figure, the value of x will be :

140°

(1) 100° 2) 110° (3) 120°
T 9 3 e Bfedy (3-D) T B

Which one of these is not three dimensional (3-D)

(1) &9 (Cube)  (2) BFM (Cuboid)  (3) TG (Sphere)  (4) ST (Triangle)
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57.

58

59.

60.

o T o Rt B £ 7

How many diagonals are there in a quadrilateral ?

(11 (2) 2 3) 3 4)4
T FHA AT B FAICR Yol B AU 6cm 3R 8cm & TAT 30 419 @ W 3cm T
TGS DT & BN ¢

The parallel sides of a trapezium measure 6cm and 8cm and the distance between them
is 6cm. The area of the trapezium will be :

(1) 42¢m? (2) 26cm’ (3) 2lem? 4) 13cm?
U% o9 T U6 ol 7em &, BT I 81

A cube whose one side 7cm, has volume is :

(1) 49cm’ (2) 98cm’ (3) 343cm’ (4) 441cm’
Il 3RS 20 — 25 Bl AT @ -

The class size if the class interval 20 — 25 is :

(1) 20 (2) 25 (3) 45 4)5

fog P (5, 4) @ y - fewie (@ife) &

y — coordinate (ordinate) of point P (5, 4) is :

(12 (2) 4 (3) 5 “4) 9
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